T2y —bz+4t= 1 POPTA0 (o4 2y— 524 4t= 1

1.5 1) 22 =3y + 22+ 3t= 18 L4—>i>—L1 — Ty+ 12z — H5t= 16
) 4o —Ty+ z—6t= -5 — by +21z—22t= -9
r+ y— z+ t= 1 — y+ 4z— 3t= 0
T+ 2y— Sz+ 4t= 1 [, ,1 1151,
Lo < -1y y_ 4z+ 3t: 0 Ly — Ly +7Lo
— 15y + 21z — 22t = —9
— Ty+ 12z — 5t = 16
r+2y— Hz+ 4t= 1 r+2y— Hz+ 4t= 1
y— 4z+ 3t= OLSH;£16L4 y— 4z+ 3t= 0
— 392z 4+ 23t = -9 z— t=-1
— 16z + 16t = 16 — 392z + 23t = -9
r+2y—5z+ 4t= 1
Ly — Lgs+39L3 y — 42 —|— 3t = 0 L4~)71/16L4
—
z— t= -1
— 16t = —48
T42y—5z44t= 1 P00 (2 42y -5z =—11
y—4z+4+3t= 0 L3—>£>+L4 y—4z = -9
z— t=-1 z = 2
Li—»Li+5L; [T+ 2Y = -1 x = 1
Lo — Lo +4L3 y :_1 L1 —Li —2Ls y :_1
—
z = 2 z = 2
t= 3 t= 3
S:{(l;—1;2;3)}
2) r—3y+z— t=0 Lg+g2L1 r—3y+ z— t=0
204+ y—2z+2t=0 Ty —3z+4t=0
L1~>1/7L1
Li—7Li+3Ly [ 7g —2245t=0 Loy [z — 224 2t=
— Ty—3z+4t=0 y—3z4+4t=0

Vu que les variables z et ¢ sont libres, on a :
t=2a—-2=2-1a-5-1p

7 7
3 4 1 1
= - — = = ._a_4._
Y= 7P I ™ ouna,BER
2= « =7z«
_ _ 1
t = B = (-

S:{(2a—56;3a—46;7a;76):a,BER}.
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22+ y—3z+4+ t+ u= 4 r—2y— z+3t— u= 1
r—2y— z24+3t— u= 1 L Lo 224+ y—3z+ t+ u= 4
3)3x— y+4z— t—3u=-6 — 3x — y+4z— t—3u=—6
v+ y+ z+ t+ u= 15 v+ y+ z+ t+ u= 15
or —4y+3z—-2t+ u= 3 Sr—4y+32z—-2t4+ u= 3
L2—>L2—2L1
Lz — L3z — 3Ly !E—Qy— z+ 3t— u= 1 1;-50L;-1o
Ly—Ls—L _ Ly —5Ls — 3L
L54:L54—5ﬁ1 by— z— St+3us= L§:5L§—6L§
— Sy + 7z — 10t = — —
3y+22— 2t+2u= 14
6y +8z — 17t +6u= -2
r—2y— z4+ 3t— u= 1
_ Ly — 8Ly — 13L
dy— z-— 5it+ 3us= L::4L§723L§
8z — 5t — 3u=-—11 -
1324 5t+ wu= 64
46z — 55t + 12u = —22
r—2y— z4+ 3t — u= 1
oy — z— Ht+ 3u= 2 Lo o> Ls 4 Ly
8z — Ht— 3Bu=-11 —
1056t + 47u = 655
— 105t + 117u = 165
r—2y— z+ 3t-— U = 1
oy — 22— Ht+ Ju= 2 Ls - 1164 Ls
8z — Ht— Bu=-11 —
105t + 47w = 655
164w = 820
L; — Ly +Ls
r—2y— z+ 3t— u= 1 L,-51L,-3Ls
_ L3 — L3 4+ 3L
5y — z— bt+ 3u= 2 L43:L43j471,55
8z — Ht— Ju=-11 —
105t 4+ 47w = 655
u= 5
r—2y— z4+ 3t = 6 r—2y— z+3t = 6
oYy — 2z — oHt = L = 1105 L 5y — z—5t =-13
8z — Ht = = 8z — bt 4
106t = 420 t = 4
Li»L—3Ly |2 — 2y — =z = —6 T =2y —z = —6
Ly — Ly +5L _ _
L;:L;-H’;Li by — =z = 7 Lz — 1/sLs by — 2 = 7
SCN 8z 24 = z = 3
t = 4 t = 4
U= 95 U= 95
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T — 2y = -3 T — 2y = -3
Li —»Li+L _ _
L;:L;+L§ oY = 10 Lo — 5Lo Yy = 2
= z = 3 — z = 3
t = 4 t = 4
u= 9 u= 5
T =
Li —-Li+2Ls y =
— z =
t =
U =>
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